Efficiency vs P,

0.05
o
9.045
>
20.04
[}
2.035
[J]
0.03
0.025
0.02
0.015 :
0.01F -+ P Feeeeeeeeen e
0.005

oF g v ]
o +Wr T T
= L
< [
o L
1 E

o
©
a

=
o
iN

1 10 o, el

—=— DQM_IT__onignal

—e— DQM_TT__0pt09_PU3
—— DOQM_TT__1pt09_PU3
—— DOM_TT__2pt09_PU3

=0.05
[2]
§.045
2
§0.04
Q
$9.035
3]
0.03
0.025
0.02
0.015
0.0
0.005
Vel

Ratio

[y

(O e e e L N RN AR RN RRN AR AR LRRR RALRE LERL

o
©
C

TP n

Efficiency vs ¢

=0.02 " T
) E: : : : : : :
e S A ST SR A
(8] . . . . .

o
e

TP @



	Contents
	Page 1


